= o, . . . .,
_ étr/? ﬂﬁ» @% addition de fractions ( fraction appropriée ) (
4= ) -ﬁ fraction impropre )

Nom: Date: Note:
5 3 4 1
4+ = Ty o=
8 9 3 8
5 6 3 3
_ 4 - = 4=
2 7 0 8
1 5 2 7
3 2 8 4
3 2 6 7
4+ = 2l
5 3 g 3
7 7 6
-+ — = LTI
g8 2 3 9
4 5 1 7
-+ = = TR
6 4 4 8
6 7 4 7
5 9 3 4
5 3 2 1
4+ = S0 =
39 4 7
5 1 2 3
Z 4+ - = Sy =
9 5 6 5
1 4 5 2
— 4 — = T4 Z =
7 3 8 9
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£\
& é:%? * & addition de fractions ( fraction appropriée ) (
— ¥ -ﬁ fraction impropre )

Nom: Date: Note:
5 3 23 4 1 35 11
4= e
8 9 24 3 8 2 24
5 6 47 5 3 3 17
4= =3 4+ =

2 7 14 14 9 8 2

1. 5_17_5 2.7 _,

3.2 6 6 8 4

3 2 19 6 7 37 1
e — 4= =3_
5 3 15 15 8 3 1 12
7 7 35 7 6

-4+ =" =4Z= — 4+ — =

8 2 8 4 3 9 3

4 5 23 11 1 7 9 1
B 4= =1-
6 4 12 12 4 8 8 8
6 7 &9 44 4 7 37 1
e = =3
5 9 45 45 3 4 1 12
5 3 2 1 9
“+Z=2 o=

3 9 4 7 14

5 1 34 2 3 14

4+ = 4+ =_

9 5 45 6 5 1

1 4 31 10 5 2 6l
T 4+ ==

7 3 21 21 8 9 7
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